
品番
(PART NUMBER)

適合
(APPLICATION)

日本語 **************2p

English **************3p

●この取扱説明書を良く読んでからお使いください
●取り付け後も大切に保管してください
●販売店様で取り付けをされる場合は本書を必ずお客様へお渡しください

TOMEI 製品のお買い上げありがとうございます。

本製品は左側（助手席側）シングル出しマフラーを装着した際に取り付けることができるリアバンパー運転席側用の
マフラー切り欠き部分のカバーです。

●Read this manual carefully prior to the installation.
●Keep this manual for future reference after the installation has been completed.
●Give this manual to the owner when the installation was performed by another person or a shop. 

Congratulations on your purchase of the quality TOMEI product.

TOMEI Bumper Garnish is a perfect cap to cover the unsightly hole left at the right side of the rear bumper after
your upgrade to the single exit TOMEI exhaust.

TOYOTA GR86 ZN8
SUBARU BRZ  ZD8

449007

M60K08 2025年06月

バンパーガーニッシュ

INSTALLATION MANUAL

BUMPER GARNISH

1



下記の内容/数量が揃っているかを確認してください。 ( )内は同梱の数量です。

■指定する車種以外への取り付けはおやめください。本品が破損する恐れがあります。
■取り付けの際は適切な工具、保護具を使用しないと、けがにつながり危険です。
■本品の取り付けはマフラーおよびマフラー周辺部品が冷えた状態で行ってください。

1. リヤバンパー本体取付位置に付着した汚れをしっかりと落とす。

2. リヤバンパー運転席側のマフラー出口切り欠き部の左右にある、バンパークリップ（2ヶ所）を車両から一旦取り外す。

3. 本体を装着位置に合わせ、取り外したバンパークリップ（2ヶ所）を使用し本体とリヤバンパーを仮組する。

4. ブラケットの穴位置に合わせてリヤバンパーにマーキングをし、本体を車両側から取り外す。

5. リヤバンパーに施したマーキング位置にドリルなどでφ6.5の穴あけ加工を施し、ペーパーヤスリなどでバリを取る。

6. 本体を装着位置に合わせ、付属のボルトとナットを使用し仮締めを行う。

7. 本体とバンパー切り欠き部左右とのクリアランスが均等になるように調整し、仮締めをしているボルトとナットを組み付ける。

300km走行ごとに取り付けネジにゆるみがないか点検し、増し締めを行ってください。

■確実な装着が行えていないと、脱落や飛び出す恐れがあります。装着は確実に行ってください。

■本製品に付着した油脂、埃、泥などはスポンジや柔らかい布を使用して中性洗剤などで拭きとりしてください。
　 その際に研磨剤を含有する洗剤の使用はさけてください。

■高圧洗浄機による至近距離からの洗浄をさけてください。

構成部品

取り付けに必要な工具類

・エンジン整備用工具一式 ・ドリル（φ6.5） ・ペーパーヤスリ

＜装着方法＞

注意

・バンパーガーニッシュ本体 (1) ・ボルト M6 L=18 (1) ・ナット M6 (1)

＜取り付け後の確認＞

警告

注意

ブラケット穴位置

本体
バンパークリップ
※車両装着のものを使用

バンパークリップ
※車両装着のものを使用

ボルト

ナット

2



Below is the contents of this kit with the quantity listed in brackets ().

■Do not install this product on vehicles other than the specified models. Doing so may cause damage to the product.
■This product is to be installed with the appropriate tools and equipment to prevent any engine failures and injuries or

 bodily harm. 
■This product is to be installed when the engine and engine bay is cold.

1. Well clean the attached area of the bumper.

2. Remove the two bumper clips located on both sides of the exhaust cutout on the right side of the rear bumper.

3. Fit Bumper Garnish at the cutout and fix it using the bumper clips removed earlier.

4. Mark the bracket hole position on the bumper, then remove Bumper Garnish.

5. Drill a 6.5mm hole on the rear bumper at the marked point and deburr around the hole using a sand paper.

6. Fit Bumper Garnish onto the bumper and position the bolt and nut included in the kit.

7. Align the position of Bumper Garnish against the bumper cutout and tighten the bolt and nut.

Check the mounting bolt and nut for looseness every 300 km and retighten them if necessary.

■Make sure the product is installed properly and securely.
   Improper installation may result it coming off during operation.

■To clean oil, dust, mud, or other residues from this product, use a sponge or soft cloth with a neutral detergent.
　 Do not use any cleaners that contain abrasives, as they may damage the surface.

■Avoid cleaning the product from a close distance with a high-pressure washer.

KIT CONTENTS

REQUIRED TOOLS

・General Maintenance Tools                ・Drill (6.5mm) ・Sand Paper

＜INSTALLATION PROCEDURES＞

CAUTION

・Bumper Garnish (1) ・Bolt M6 L=18 (1) ・Nut M6 (1)

＜INSTALLATION VERIFICATION＞

WARNING

CAUTION

Mounting bracket

BUMPER GARNISH
Bumper clip

*Reuse the factory stock
Bumper clip

*Reuse the factory stock

Bolt

Nut

3



株式会社 東名パワード

〒194-0004 東京都町田市鶴間5-4-27

TEL : ０４２－７９５－８４１１（代）

FAX : ０４２－７９９－７８５１
http://www.tomei-p.co.jp

バンパーガーニッシュ取扱説明書 2025年06月 M60K08

BUMPER GARNISH INSTALLATION MANUAL 2025.6 M60K08-0

この製品に関わる取り付け、操作上のご相談は上記へお願いします。

営業時間：月～金（祝祭日、年末年始を除く）９：００～１８：００

Please contact your local authorized distributor listed on our website
if you have any questions in regards to the installation / usage of this product. 

4


